








WV CARRYBOY'
The Name of Quality and Design. CAR SERVICE

INSTALLATION LONG BED

°> /1aalocs e’
®® @

Nut M8 SUS. 8 Pcs.. | Washer M8 SUS. 8 Pcs..| Oring M8 SUS. 4 Pcs.| Bolt M6x25 SUS. 4 Pcs.
INSTALLATION TOOL. H EEE

Wrench No,13 T-Wrench No,13

PLASTIC RECYCLE 1/1




WV CARRYBOY'
The Name of Quality and Design. CAR SERVICE

INSTALLATION LONG BED
PARTS

o

C-XXXXXXXX
PLASTIC RECYCLE 11 6-12-56




WV CARRYBOY'

The Name of Quality and Design. CAR SERVICE
INSTALLATION LONG BED
PARTS

o 2

Plastic belt 12 Pcs.

Light labels.=> o— < Light Brake Carnopy

C-XXXXXXXX

PLASTIC RECYCLE 1/1 6-12-56




WV CARRYBOY'
The Name of Quality and Design. CAR SERVICE

INSTALLATION LONG BED
PARTS

(2 ) (3 )
&

Belt 2'x4 #4 6 Pcs.
INSTALLATION TOOL.
Blaket CRB 41EDP(1) 6 Pcs.

Chassi‘s'l'ruk. |:::

C-XXXXXXXX

PLASTIC RECYCLE 1/1
6-12-56




®

WY CARRYBOY

CAR SERVICE

The Name of Quality and Design.

INSTALLATION

LONG BED

PARTS

7]
& _
- 3
el =
mu. q 2 (&)
) NN = 3
) & 0
= O
L 7 »
O
>
=
&
o
a vn m.
7 a
7]
O
o []
@ wl
5| 0 =
]
o O 2
> = c
o 2
£ & o
@) O =
- [N
=
E
O
a A o
wn ]
2 (7] z
o & 5
C
= 3
9o =
w
O
=
<
< ol
& S —
& - g
@D - =
< © ("]
= S =]
g 0
@ m
C 0
w
9 _
= @i
. Q- )
[0]
o 6
8 a8
& —
e -
Qo ]
a S
= O

Qe

=

DETAIL

MR A
MR

\ //// \
/Z///w//////// AN

AN N/ﬁ//////// /////////
WRTH

11 6-12-56

PLASTIC RECYCLE



	CAR SERVICE1
	CAR SERVICE2
	CAR SERVICE3
	CAR SERVICE4
	CAR SERVICE5

